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Sl. No.1
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Choose the correctly spelt word.
(1) Defalcation

(2) Difalcation

(3) Defalcasion

(4) Defalcatation
fefafEy & e o= &
(1) 9

(2)

(3) =

(4) 94

1[Option ID=19201]
2[Option ID=19202]

3[Option ID=19203]
4[Option ID=19204]

Sl. No.2
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Given below are four sentences in jumbled order. Select the option that gives their correct order.
A Once on their way, the stones did not stop until they reached the bottom of the hill.

B. You had to be very careful not to start a landslide.

C. Loose stones rattled down the cliff.

D. And they took other stones with them. so that there was soon a cascade of stones.

Choose the correct answer from the options given below :
1) C.A.D.B
2 B.A.D.C
3) B.C.AD
@) C.D.B.A

4 31 B AU U & U SHTUTYT (Assertion A) & F9 T Rad § ol TIRT 39D SRV (Reason R) B ¥Y H:

HTHHYUF A : SHRIT G AT g |

PRI R : Afeb T G 8 | F© Wsa H9AIS 81 6. SHITAU sHRId gid g¢ T Il Wi 181 § |
SWRIF Y & 3cid H, = AU U [deedi ¥ 9 9ad Sugad SR &1 999 DI |

(1) A SRR 3 TE € SR R, A B TE Ra B

(@) A SRR EH TE . AP R AT T TR Tel ©

() AGSl e AfPIR TSI TS
@) AT TSI T AGTR WE &

1[Option ID=19245]
2[Option ID=19246]
3[Option ID=19247]
4[Option ID=19248]
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Choose the correct sentence.
(1) We went to the station to see them off.
(2) We went to the station to see them out.




(3) We went to the station to goodbye them.
(4) We went to the station to say them goodbye.

Fr <1 Ty faU MY § UF SfieuE (Assertion A) F w0 H T8 § @ g9 S9% $RU (Reason R) & 39 &
i A - T wsg SuEiE 2 |
FRU R ; o0 3@Ra ot ¢ | 9T 9 @RIT wes g T8l e & |

IuiiEd HyH & i A, A9 34U 1 il # § 9ed Suged I @1 994 S
(1) A IRR EH 98 € SRR, A ¥ 98 e

(2) A RR I TEE dfFT R, A F1 96 ogren 7 2

(3) A 98¢ afe R o8t 481 2

(4) ATSI TE AR R 2

1[Option ID=19273]
2[Option ID=19274]
3[Option ID=19275]
4[Option ID=19276]
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Match List I with List II

List I (Wood) List II (Synonym)
A Ipervasive I [filter
B |fsieve II.  jwidespread
C. |potent III.  |netting
D. jmesh IV.  lpowerful

Choose the correct answer from the options given below :
(1) A-IIL B-I. C-IV, D-III
(2) A-IV, B-III. C-II, D-I
(3) A-IV, B-1, C-II1, D-IT
(4) A-IIL B-I, C-II, D-IV

Gt 1% 1Y Gl 11 DT {7 Hifee

T T T 11
A, [PHR T 1. [=ifd e
B. [@aYdah s 11 [HRT 31O 31 S
C. [PcTs gl 111 [[eh il & SR UR A=Al
D. [@eel dsTgHl IV, [HE Ja o

i QU T f[aseul 4 ¥ el 3R &1 994 BIfE:
(1) A-II, B-III, C-IV, D-I
(2) A-IIL B-IV, C-1, DI
(3) A-IV. B-I. C-IL. D-III
(4) A-L B-II, C-III D-IV

1[Option ID=19277]
2[Option ID=19278]
3[Option ID=19279]
4[Option ID=19280]
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Which two of the following are in correct form ?
A. Let's go to the cinema, shall we ?

B. Let's go to the cinema, do we ?

C. Let's not go to the cinema, shall we ?

D. Let's not go to the cinema. shan't we ?

Choose the correct answer from the options given below :
(1) A and D only

(2) A and C only

(3) B and D only

(4) B and C only

o U ug A T £ 7

(1) TR Uig

(2) R Ug

(3) T Hg

(4) g u1g

1[Option ID=19281]
2[Option ID=19282]
3[Option ID=19283]
4[Option ID=19284]
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Choose the option which is opposite in meaning to the following word:

Castigate

(1) Commend

(2) Reprimand

(3) Flagellated

(4) Commotion

o § daifi S0 9 9 € 0

(1) Tl # odoia S el € |

(2) e ® 1t o 99T T8

(3) TfFEOHS HHRIT YeeT Fa] sgaa- | fipd 5w 7 |
(4) =t ueria gfe dasi &1 agaed s914 & 60 T ¥ RE W S W B |
1[Option ID=19285]

2[Option ID=19286]

3[Option ID=19287]
4[Option ID=19288]

Sl. No.7
QBID:1555027

Tdentify the correct indirect narration for the following sentence :

"Who now." they had asked. "Will listen to our troubles and protect us from the crocodiles" ?

(1) They had wanted to know who would listen to their troubles and protect them from the crocodiles.

(2) They had wanted to know who then would listen to their troubles and protect them from the crocodiles.
(3) They had wanted to know who will now listen to their troubles and protect them from the crocodiles.

(4) They wanted to know who will listen to their troubles and protect them from the crocodiles.




fore wTe &1 3 oia Sf<m Ug WY g, SF aeeY 99 $Ed & | 99 SeTet g |

A, ufagaa
B. @=uguf
C.TafE=®
D. syara
E. o

i fau 7w fawed! # § 99 Suge 9T &1 904 Silee:
(1) #3T A, B.D
(2) 3B, C.D

(3) Faa C.A. B
(4) 3@ D, E. C

1[Option ID=19289]
2[Option ID=19290]
3[Option ID=19291]
4[Option ID=19292]

Sl. No.8
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Which of the following is a one-word substitute for 'safe to drink’ ?
(1) Potable

(2) Suitable

(3) Edible

(4) Pliable

AT 59 T F1 9 § § $H-9 woiua weE § 2
(1) AR

(2) F@e

(3) =M

(4) Twdis

1[Option ID=19293]

2[Option ID=19294]

3[Option ID=19295]
4[Option ID=19296]

Sl. No.9
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Identify suitable preposition from the options given below to compute the sentence.

Neha would think it her to do such a small work.

(1) under
(2) below
(3) above
(4) beneath

et i e o= £ -
A TEEIYRO
B. iy
C. e

D. 3&e
E. g==

i fAu 7w fowed! # § 99 Suged 9T #1904 Sile:
(1) FTWA. B, C
(2) ¥ B, C.D
(3) ¥ C.D. E
(4) F3@A.D.E

1[Option ID=19297]
2[Option ID=19298]
3[Option ID=19299]
4[Option ID=19300]




Sl. No.10
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Identify the active voice for the following sentence :

These things have been left here by an unknown person.
(1) An unknown person leaves these things here

(2) An unknown person have left these things here

(3) An unknown person has left these things here

(4) An unknown person had left here these things

B[& O F1 90 ST |

(1) W& BHEl B FEN S A |

(2) IS 9IS FH B |

(3) TS IH B AN S T |

(4) BHEF UAS A Al |

1[Option ID=19205]
2[Option ID=19206]
3[Option ID=19207]
4[Option ID=19208]

Sl. No.11
QBID:15550211

Amid economy crisis and political turmoil in Sri Lanka who has been appointed as the new PM of Sri Lanka.
(1) Maithripala Sirisena

(2) Ranil Wickremesinghe

(3) Mahinda Rajapaksa

(4) Gotabaya Rajapaksa

dicient & sfdfes Hare wd IeHfas =i & st diciet o1 a1 nurHE fod e fearman g 2

(1) Faret &

@) I fawafdy

(3) HGZH oI

(4) TTE] IST9E

1[Option ID=19209]
2[Option ID=19210]
3[Option ID=19211]
4[Option ID=19212]

Sl. No.12
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Who has become the First female to took the office of President of Tanzania and the third woman head of the government of country in
East African Community ?

(1) Samia Suluhu Hassan
(2) Agathe Uwilingtyimana
(3) Sylvie Kinigi

(4) Sahle-work-Zewde
donfran & TPula &1 9g YR 950 &3 ardl gy A i gb@f onele! 9He | oF §1 TR WgE 994 i died A3ige &4 a4 2
(1) W R T

(2) e SRt

(3) e &l

(4) WE0-9F vEa

1[Option ID=19213]
2[Option ID=19214]

3[Option ID=19215]
4[Option ID=19216]

Sl. No.13
QBID:15550213

India held the first spot in the International Shooting Sport Federation World Cup 2022 which was being held in :
(1) India
(2) China




3) UAE.

(4) Egypt

SRS YET TWIE HevsH aes &Y 2022 H YRA A 9UH WH W o, e smgied . Hgenar:
(1) Y4

(2) T4

3) 4U%.

(4) iy

1[Option ID=19217]
2[Option ID=19218]
3[Option ID=19219]
4[Option ID=19220]

Sl. No.14
QBID:15550214

Who has won the Men's Single Title at 79th Edition of the Italian Open being held in Rome ?
(1) Stefanos Tsitsipas

(2) Nowak Djokovic

(3) Rafael Nadal

(4) Roger Federer

I # e gefeay oo & 798 Jeeeu # 059 o1 5 Ued (Gae B e widr ?
(1) Ee=RT R

(2) o Sielids

(3) wHw FE1d

(4) IR e

1[Option ID=19221]

2[Option ID=19222]

3[Option ID=19223]
4[Option ID=19224]

Sl. No.15
QBID:15550215

‘What is the current year estimation of the GDP growth according to the Nirmala Sitharaman m the Union Budget 2022-23 ?
(1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

e Fraren g1 w0 §9E 2022-23 F AR 91 99 S Seid gie &1 ogAE fHaa e 2
(1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

1[Option ID=19225]

2[Option ID=19226]

3[Option ID=19227]
4[Option ID=19228]

SlI. No.16
QBID:15550216

All the mtellectuals are very emotional. because :
A. They are thinking beings

B. They are logical beings

C. They are mathematical beings

D. They are philosophers

E. They are layman

Choose the correct answer from the options given below :




(1) A.D Ouly
(2) B. C Only
3) C.E Only
(4) D. E Only

R gigeldl sga WIgs B & i

A, T S o Wil E
B. § difde ot & |
C. & mifirdi wmeft & |
D. T EEEF 7 |
E.dTHETIE |

H12 fau 7y fomedt & 9 999 SUgEd S &1 904 ST
(1) F@TA. D
(2) #@@ B, C

3) F@C.E
(4) a0 D. E

1[Option ID=19229]
2[Option ID=19230]
3[Option ID=19231]
4[Option ID=19232]
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Choose the best options for football players :

A. Player 'XYZ' shows team spirit

B. Player 'XYZ' have sportsmanship

C. Player 'XYZ' have hatred for other team-mates
D. Player 'XYZ' shows jealousy

E. Player 'XYZ' shows patience

Choose the correct answer from the options given below :
(1) A.B, C only

(2) A and C only

(3) B.C.D only

(4) A.B.E only

Feam ¥ aensal @ g wata fawer g

A, fEaE ' XyZ fmumn seikia s g |

B. @& 'XYZ' & §0-uETa § |

C. e 'XYZ' # o= dv-vewl S U g g |
D. Eardl 'XYZ' o vefitfa s g o

E. faaE 'XyZ' H reifd s g |

i 3u U el H ¥ Hed Sugad 9TR &1 909 S
(1) $TA. B, C
(2) FIAA IR C
(3) ¥WuB,C.D
(4) ¥TWA.B.E

1[Option ID=19233]
2[Option ID=19234]
3[Option ID=19235]
4[Option ID=19236]

Sl. No.18
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A person can learn Sanskrit without a teacher :

A. Tt is not possible learning Sanskrit without a teacher: as it is a technical subject.
B. It is possible to learn Sanskrit as it is non-technical subject.

C. Anyone can learn it; as it is just a language.

D. It can be learned by daily practice under a teacher.

E. It is easy for a person, who know Hindi language.

Choose the most appropriate answer from the options given below :
(1) A and E only

(2) B.C and D only

(3) A, B and E only

(4) A and D only

FIg afad (o1 ] STIe & §99d 91 99l o

A. 571 s & Tehd S 9RE gl 8, Fiie 9% U6 dediel feg T
B. T%FHd a1 gnd § #iile 05 Us (R-aeis] 09 g |

C.sa =k i frovwa & Wifs ss Faa ue v & |

D. 75 f erogs # aEE H i swm F mme S S e uedi B
E. s &l um o o i e F R o g

i Tou U Aecd! H# 9 ged SUgad STk &1 909 Sl
(1) FTTA IRE

(2) FFEB, C R D

(3) FTA. B IRE

(4) FIWA FRD

1[Option ID=19237]
2[Option ID=19238]
3[Option ID=19239]
4[Option ID=19240]

Sl. No.19
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Give below are two statements :
Statement I : Pollution level in Delli may be reduced by reducing the factories.
Statement II : All factories are creating noise pollution and are dangerous to health.

In the light of the above statements. choose the correct answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement IT 1s correct

4 & wu= Ry M
w1 ; e & vguw &7 T SREH 9o & A1d § 9erd] of 96l & |
HYA [ ] ; TN SREH af-UgH 30F S & SR @ & [ 96s § |

IuiiEd HyH & i@ A, A9 U 1 il # § 9ed Suged I @1 994 S
(1) FF] AR SH 9 &

(2) ®yA] AR SH TwE &

(3) FAEI SR AT s T &

(4) ®Y= 1 7Tod B Af By 11 98 8




1[Option ID=19241]
2[Option ID=19242]
3[Option ID=19243]
4[Option ID=19244]

Sl. No.20
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Give below are two statements :
Statement I : Education is important for both male and female.
Statement II : Government must encourage co-education, as it is required for country's development.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement IT is correct

TRasE Rt
HYE | ; goul iR ofgeet, <41 & fog frer agagf 2 |
FUT 1 1 : TER F1 Te-[e =1 Wle" &1 9oy wife 78 o0 F fiew F fou smaws |

SR HUF & s H, Y [GU T Aeed § 9 999 Iued 9oR &1 999 SIus
(1) FF] AR SH 9 &

(2) A1 3R 11 <41 o §

(3) FHEI L AT s I Ta &

(4) Sy [ o B, S HuA I 98 2

1[Option ID=19249]
2[Option ID=19250]
3[Option ID=19251]
4[Option ID=19252]

Sl. No.21

QBID:15550221

If . I then the valueof , 1 is
X 2 o

(1) =2

(2) =8

3) =1

(4) =4

o 1 ar 1 STHEERT -

x+—==2 X +—=

b x*

(1) =2

(2) =8

3) =1

(4) =4

1[Option ID=19253]
2[Option ID=19254]
3[Option ID=19255]
4[Option ID=19256]

Sl. No.22
QBID:15550222

Give below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A : If the volumes of two cubes are in the ratio of 3:27 then their surface areas are in the ratio of 4:9.

Reason R : If the surface areas of two cubes are in the ratio Sj : ;. then their volumes are in the ratio 5§ - §77

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A

(2)




Both A and R are true but R is not the correct explanation of A
(3) Aistrue but R is false
(4) Ais false but R is true

4 3 Y AU TN & U SHTUFYT (Assertion A) & F9 T [RId © T TIRT 39D SRUI (Reason R) P ¥Y H:

HfHYF A ; fE Gl & STEA BT SUI 3:27 § A1 3P Tdg AP BT 3T 4:9 BT

BRUIR : AlE &1 Ul & Halg GAB BT HIUIA S, : 5, © dl 3P AT Bl HUA 53 - 52° BRI

SQRIK DU & 3eliss 4, i fSU 71U fdbeui & 9 9el IR &1 994 S |
(1) ARRIATHE ARR AP Tl @ 8

(2) A3fRRIATHE APAR AP T T e &

(3) AYTE AfFR 3TA T

(4) ATACAPIRTTE

1[Option ID=19257]

2[Option ID=19258]

3[Option ID=19259]
4[Option ID=19260]

SI. No.23
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If the high and base radius of a cone are increased by 50% and 25% respectively then the ratio between the volume of a given cone and
the new cone is

(1) 8:27

(2) 75:32

(3) 32:75

(4) 27:8

afe ol 2 D1 S5 SR YR FBI501 &1 P 50% 3R 25% F¢7 gl oY a1 - ¥P 3R T4 VP P SH1aa BT 91 61T -
(1) 8:27

(2) 75:32

(3) 32:75

(4) 27:8

1[Option ID=19261]

2[Option ID=19262]

3[Option ID=19263]
4[Option ID=19264]
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The probability of sclecting a vowel from the word TRIANGLE is -

1)
(2)
(3)

(4)

[ DL LB = B U = R B

zee TRIANGLE # 9 U ¥R 937 &1 i &1 gil-

(1)
(2)
(3)

(4)

== R N - VS I - T R )

1[Option ID=19265]
2[Option ID=19266]




3[Option ID=19267]
4[Option ID=19268]

Sl. No.25
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If one root of quadratic equation 3,2 3,4 (25 +1) = 0 is five times the other then the value of k is
3

1) —
16

(2) -

(3) -

[« RIS 3|M

3
(a) -
8
Femclia e 9,2 3y 4 gk 4 1) =0 T TP T G 1 91 T 3 f k T A F1E 2
3
(1) —
16
) -

3) -

[~V ;l"""

3
4) -
g

1[Option ID=19269]
2[Option ID=19270]
3[Option ID=19271]
4[Option ID=19272]
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A vector field which has a vanishing divergence is called as

(1) Solenoidal field
(2) Rotational field
(3) Hemispheroidal field

(4) Trrotational field

e ey aA foRE ddl sl ® . FEd Bl
(1) gl &

2 qoff §=

(3) 3fgrleiy &=

@) ool &=

1[Option ID=23201]
2[Option ID=23202]
3[Option ID=23203]
4[Option ID=23204]

Sl. No.27
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Divergence and Curl of a vector field are .

(1) Scalar & Scalar
(2) Scalar & Vector
(3) Vector & Vector
(4) Vector & Scalar

IR &7 BT AR SR pad |
() 3ffe= 3iiR sifem
) 3ffgm iR Aew
) e ofk wfew
(4) fezr &R sifewr

1[Option ID=23245]




2[Option ID=23246]
3[Option ID=23247]
4[Option ID=23248]
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In curved space-time interval, all frames are
(1) Inertial

(2) Non-inertial

(3) Both | and 2

(4) None of these

gog PRI - R 8. ity B
(1) SSdl

@) Fsda

(3) aHI(1) 3R @)

@) ZTHI DS eI

1[Option ID=23289]
2[Option ID=23290]
3[Option ID=23291]
4[Option ID=23292]

Sl. No.29
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According to which Kepler’s law, planets move in elliptical orbit with the sun at one focus

(1) Law of area
(2) Law of period
(3) Law of orbit
(4) None of these

PR F [5H FOH F IR, TT HUSTHR H&1 1 4 & 914 TP DIy TR 110 Fd 6 -

(1) gF 1 4ag
(2) 3fafy &1 Hgq
(3) Fe&f HI H9H
@) 579 A D5 6!

1[Option ID=23333]
2[Option ID=23334]
3[Option ID=23335]
4[Option ID=23336]

Bl
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Energy in an orbit is
(1) k/2a

(2) -k/2a

(3) k/a

(4) -k/a

TP H&H Ioll g
(1) k'2a

(2) -k/2a

(3) k/a

(4) -k/a

1[Option ID=23377]
2[Option ID=23378]

3[Option ID=23379]
4[Option ID=23380]

Sl. No.31
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Mateh Group-I with Group II

Group-1 Group-1I
A Transition between two L Characteristic
atomic Energy levels X-rays
[Electron emission from a hotoelectric
‘imaterial " leffect

1 ydrogen
spectrum

C.[Mosley’s Law 111
)Beta—decay

D. IChange of photon energy into
lkinetic energy of electrons

(1) A-TL, B-IIIL, C-I, D-IV

(2) A-III B-IV, C-1. D-II

(3) A-IL B-IV, C-I. D-III

(4) A-IV, B-I, C-II, D-III

=it 1% 1Y G 11 DT T B :

I

T 1 el 11
T A 3t
A R & &g A L |sifycefi Horays
B Wﬁfﬁﬁéaaﬂfﬁ‘ I |veTe faggs TV
C. |Hred @1 fFom . |gRaieH WagH
B 39l @l
D. |gTaeH B TIfest IV |p-&d
It & ulada
i fGu U f[de el § O gl 3R &1 994 SIfol

(1) A-IL B-III. C-1. D-IV
(2) A-IIL B-IV, C-I. D-IT
3) A-IL B-IV. C-I. D-III
(4) A-IV. B-I, C-I1. D-III
1[Option ID=23421]
2[Option ID=23422]

3[Option ID=23423]
4[Option ID=23424]

Sl. No.32
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The potential energy of the oscillating system willbe
) |2kx?

(2) mgh

3) 0

4) -1/ 2kx>

a0 o fufas gt Gkl

(1) 12k

(2) mgh

3) 0

(4) —12kx?
1[Option ID=23465]
2[Option ID=23466]

3[Option ID=23467]
4[Option ID=23468]

Sl. No.33
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If the length of simple pendulum is increased then the time period

(1) Decreases
(2) Increases




(3) Remain same
(4) Can’t be predicted

Of3 IR AIad B daTs d¢l <l o a STl =il
(1) FHEAT

(2) g

(3) Tl T

(4) el §aT Jad

1[Option ID=23493]
2[Option ID=23494]
3[Option ID=23495]
4[Option ID=23496]

Sl. No.34
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Determine the correctness of the following Assertion A and Reason R.
Assertion : Glass is supercooled liquid.

Reason : The constituent particles in the glass have short range order.
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R is not correct.

(4) A is not correct but R is correct.

:ﬁ%aﬁmﬁﬁqw % (& itiaic (Assertion A) %Wﬁﬁ@ﬁ%?ﬁwmw (Reason R) FHFOH.
e A T sfaRifaa sa B

BRUIR : T ¥ Y URER Ha®IT & H9Th HUI Bl 5 |

SWRIT BYF & 3Tdld H, Hid 40 U fased] § 4 Yol IR &1 999 Hifoll -

(1) A SRR TUE SRR AT G A= ©

(2) ARREH IT S, APAR AT ol ARAT Tol &
(3) AT e, AR 3T S

(4) AT AFTRIAE

1[Option ID=23497]
2[Option ID=23498]
3[Option ID=23499]
4[Option ID=23500]

Sl. No.35
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The body is said to move with the simple harmonic motion if its acceleration is
(1) Always directed away from the centre, at the point of reference

(2) Proportional to the square of the distance from point of reference

(3) Proportional to the distance from point of reference and directed towards it.

(4) None of these

T o W a0 Td Y 9a el ¢ a gudl @i &l
(1) THRI &5 A R ey, e S iy w

@ BEYF R A gl ol b e

o PR § 2 b eI AR et SR Ry e
@) ZTHI DS eI

1[Option ID=23205]
2[Option ID=23206]
3[Option ID=23207]
4[Option ID=23208]

Sl. No.36
QBID:959142411

Clocks in a moving reference frame, compared to identical clocks in a stationary reference frame, appear to run

(1) Slower




(2) At the Same Rate
(3) Faster
(4) Backward in time

T Fdw gl & U, Ue s Fd o & 9=y ug! &1 gal § = g5 el o:-
(1) AT

(2) FHA R

(3) a9

(4) grg ¥ gy

1[Option ID=23209]
2[Option ID=23210]
3[Option ID=23211]
4[Option ID=23212]

Sl. No.37
QBID:959142412

The biodegradable polymer among the following polymers is
(1) poly-lactic acid

(2) polybutylene terephthalate

(3) polystyrene

(4) polypropylene

% 7 @ & 91 5a eigpd sgas ¢

(1) gt

(2) gifd

(3) TIfer T SRmereie

() il Higgfe

1[Option ID=23213]
2[Option ID=23214]
3[Option ID=23215]
4[Option ID=23216]

Sl. No.38
QBID:959142413

Determine the correctness of the following Assertion A and Reason R.

Assertion : In crystalline solids electrical resistance shows different values when measured along different directions in same crystal.

Reason : Crystalline solids are isotropic in nature.
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A s correct but R is not correct.
(4) A is not correct but R is correct.

ﬁﬁmﬁqm%:WS{ﬁ-@‘lﬁ{AsscﬂionA}%F‘qﬁﬁ'@ﬁ%a}rwmw(RcasonR)%quf:
3HfirmYE A - foreedia 31 # faggdia ufaRie e O 95 iid oxd 6. 98 90 fovea & fird &= & 9y Amdd g
BRUIR : fbiediy 319 9HaRie Yeid & 8id g

SWRIF HYF & AP 4, Hid 30 7T fawed] § 4 el IR &1 999 Hifoil -

(1) A SRR I TUE SRR AT G A= ®

(2) A SRR GH U T, A R, A D TG IAT Tol o
(3) AT e, AR 3T S

4) AT AFTRIAE

1[Option ID=23217]
2[Option ID=23218]
3[Option ID=23219]
4[Option ID=23220]

Sl. No.39
QBID:959142414




Given below are two statements :

Statement I : The conductance through electrons is called n-type conduction and if through positive semi holes it is called p-type
conduction.

Statement IT : Doping involves the preparation of semiconductor by the addition of impurities in the intrinsic semiconductor.
In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct.
(2) Both Statement I and Statement IT are incorrect.
(3) Statement I and Statement II is correct but Statement II is not correctly explained Statement T.

(4) Statement I and Statement II is correct but Statement II is correctly explaining Statement I.

DY I : 9 ATAHdl SUaCH & HEOH Y Bl § df n-HPR DI A1ADHdl Do & 14 YD 31 (9% & J19H I BIdl ¢ p-TPR i

el Hed 2|
DU 11 - A1 S arad® H Sl Pl e & gRI sfsare® S duR P 1 SiuF Fifed g1
SWRIT HYF & 3iTdld |, Hid 40 7T fased] § 4 Yol Ik &l 999 Hifoil -

(1) HYFI AR SH T &

(2) HYFI RIS ST &

(3) FYT 1Y 8, A B 11 HTT &
(4) FUYF1 TS, AT PUT 1 T ©

1[Option ID=23221]
2[Option ID=23222]
3[Option ID=23223]
4[Option ID=23224]

Sl. No.40
QBID:959142415

The direction of the force in an electric field is

(1) Same as the field
(2) Opposite to the filed

(3) Perpendicular to the field
(4) Opposite or in the same direction of the field

0% faggd &7 F g @t = gl
(1) &7 Hl die T

(2) &7 [qudid fa=n &

(3) &7 @ AUcig o

(49) &7 & fausia ok wo= fa=n o

1[Option ID=23225]
2[Option ID=23226]
3[Option ID=23227]
4[Option ID=23228]

Sl. No.41
QBID:959142416

Give the unit of permitivity 7
(1) F/'m

(2) A/m

(3) Vim

(4) None of these

faqgasiieal &1 golg gifo -

(1) F/m
(2) A/m
(3) Vim
(4) None of these

1[Option ID=23229]
2[Option ID=23230]
3[Option ID=23231]
4[Option ID=23232]




Sl. No.42
QBID:959142417

Determine the correctness of the following Assertion A and Reason R.

Assertion : The resistance of a given mass of copper wire is inversely proportional to the square of length.
Reason : When the copper wire of a given mass is stretched to increase its length., its cross-sectional area also increases.
In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is correct.

ﬁ%?ﬁmﬁt{ﬂq%waﬁwm [AsseﬁionA}%F‘Jﬁ%@ﬁ%ﬁmmw(Reason R)%Wﬁ:
B A : 38 T8 S & did & dR &1 WioRiY TE1E & avf & eh AR g

PRUIR : OF (&8 T4 GoIHA & did & aR & Wi I T TS gedl ¢ | ST o™ ity &awa Hi sedar sl
SRIGd Y & 3aid B, - fAu 7 fasedi & 3 9ol 3R &1 984 Difor

(1) ARRIA TR SRR AT TS TN

(2) A SRR A TAE. bR, A P el e TE §
(3) AT S, AR 3T

(4) A3NTT. AFTRIAT

1[Option ID=23233]
2[Option ID=23234]
3[Option ID=23235]
4[Option ID=23236]

Sl. No.43
QBID:959142418

Match Group I with Group II

LISTI LIST IT
A |p-njunction diode I |Amplifier
B. |Zener diode II. |Rectifier
C. |Photo diode III. |Voltage stabilizer
D |Transistor IV. |Light detector

Choose the correct answer from the options given below:
(1) A-IL B-III, C-IV, D-I
(2) A-II, B-IV, C-I, D-II
3) A-IL B-IV, C-I, D-III
(4) A-IV, B-I, C-II, D-III

=it 1% 1Y G 11 DT T B :
T 1 Tl 11

A |pnEFISHIS L |vasds

B. [imemE I |GFPRI

C. |wicisars . |Sieedl EfaageR

D. |gifoReR SIS IV. |UeTe §Ydae
i fou U fased d 4 T8l 3R &1 9494 HilolU :

(1) A-IIL B-III. C-IV. D-I
(2) A-IIL B-IV. C-I. D-II
(3) A-IL B-IV. C-I. D-III
(4) A-IV. B-I. C-II. D-III
1[Option ID=23237]
2[Option ID=23238]

3[Option ID=23239]
4[Option ID=23240]

Sl. No.44




QBID:959142419
For which of the following parameter variation, the capacitance of the capacitor remains unaffected

(1) Distance between the plates

(2) Area of the plates

(3) Nature of the dielectric

(4) Thickness of the plates

70 A D 4 UHds Sl gRkalid B3 8 WA B SHILTRdr Simuidd I8dl § 2
(1) ©ed & dg Bl gl

(2) Wicy @1 §Ahd

(3) TRIdSgd 3t UFid

(4) Ieg DI HleTy

1[Option ID=23241]
2[Option ID=23242]
3[Option ID=23243]
4[Option ID=23244]

Sl. No.45
QBID:959142420

Which one of these is not a vector ?
(1) Linear momentum
(2) Angular momentum

(3) Electric field
(4) Electric potential

FHAPH A IS A Tei g 2
() g Han

() pivfig Ham

(3) fagga &=

(4) faqygd faua

1[Option ID=23249]
2[Option ID=23250]
3[Option ID=23251]
4[Option ID=23252]

Sl. No.46
QBID:959142421

Determine the energy in units contained in an electric field with a flux density of 6 units and a field intensity of 4 units.
1) 12
(2) 18
(3) 24
(4) 48

Ue faqyd &7 # SHidY Ware - 6 gfcd SR &3 diadl 4 gfHcH 8 591 giiey 3 3o ol FuRu S -

(1) 12
(2) 18
(3) 24
(4) 48

1[Option ID=23253]
2[Option ID=23254]
3[Option ID=23255]
4[Option ID=23256]

Sl. No.47
QBID:959142422

Determine the flux density of a 25-unit charge density sheet in air.




Ay H 25 FE 19 U9 & HaTe g9 BT e S -
(1) 25

(2) 12.5

(3) 6.25

(4) 3.125

1[Option ID=23257]

2[Option ID=23258]

3[Option ID=23259]
4[Option ID=23260]

Sl. No.48
QBID:959142423

The magnetic field outside of a solenoid is
(1) Infinity
(2) Half of the value of the field inside

(3) Double the value of the filed inside
(4) Zero

T IRATT®T & GI6R TaH 1 87 8|
(1) HAd

(2) 3G D & P HH DI 1Yl

(3) G D &F & HH DI G

(@ LY

1[Option ID=23261]
2[Option ID=23262]
3[Option ID=23263]
4[Option ID=23264]

Sl. No.49
QBID:959142424

When a charged particle moves at right angle of the electric field, the variable quantity is
(1) Momentum

(2) Speed

(3) Energy

(4) Moment of inertia

e U MTafRid v faggd &3 & S0 10 R Tfd Sl 8, a9 IRad] 11 gidl o
(1) Ha
(2) d9Ig
(3) It

(4) WS Mgl

1[Option ID=23265]
2[Option ID=23266]
3[Option ID=23267]
4[Option ID=23268]

Sl. No.50
QBID:959142425

Determine the correctness of the following Assertion A and Reason R.

Assertion : Magnet removal from the solenoid causes the generation of an induced emf.

Reason : Emf is generated by the relative motion of the magnet and solenoid.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A.

(2) Both A and R are correct but R is not the correct explanation of A,

(3) A s correct but R is not correct.
(4) A is not correct but R is correct.




:ﬂaamﬁﬂ"ﬂ{%:WS{T\W?ﬁ{AsscﬁionA}%Wﬁ%@ﬂ%ﬁWWW(R.easonR)%??qﬁ:
YT A : T GRATIST ¥ TS B G S § af SHD PR emf TRUT Bt I Sl o

HRUIR : TGP 1 71 3R GRATIDT & 0T GRT emf B IR 811 S

SWRIT BYF & 3Tdld H, Hid 40 U faswed] § 4 Yol Ik & 999 Hifoil -

(1) ARREIUE IRR AT T AT ©

2 ARRIFTAE AfFTR, AP TEI AT TE
() ATTE. AfPTR 3T S

(4) AGIE. APTRIUR

1[Option ID=23269]

2[Option ID=23270]

3[Option ID=23271]
4[Option ID=23272]

Sl. No.51
QBID:959142426

Which law can Ampere’s circuital be derived from

(1) Guass Law

(2) Newton’s Law
(3) Kirchhoff’s Law
(4) Biot-savart Law

D 91 99 TR & uikey 3§ Ffda e 2
) Ty Ay

(2) e &I g

3) fHeErs o1 fFam

(4) g gEe gy

1[Option ID=23273]
2[Option ID=23274]
3[Option ID=23275]
4[Option ID=23276]

Sl. No.52
QBID:959142427

Given below are two statements :
Statement I : The Davisson-Germer research proves that electrons are waves.
Statement II : Interference and diffraction are possible for electrons if they have a wavelength.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement I is correct but Statement IT is incorrect.

(4) Statement I is incorrect but Statement II is correct.

HYA 1 - Sfag TR Wy AMfad B ? b Soiag™ a1 Wohid 1 gldl el

FHUF 11 : TaCH & g Sfadul SiR faad= THa 1 918 8 a¥iTeed J@d & |

SWRIT HYF & 3Tdid |, Hid 40 7T fased] § 4 Yol Ik &1 999 Hifoil -

(1) HYFI IR EH TT §

) PYTI AR IS ST

(3) HYU I B, A PUT I 3T §
(9) FYTI A S, AP P I T ©

1[Option ID=23277]
2[Option ID=23278]
3[Option ID=23279]
4[Option ID=23280]

Sl. No.53
QBID:959142428

The electric field intensity at a point lying inside a charged spherical shell (conducting) is




(1) &%
(2) o/gg
(3) Zero
(4) g9/2

TS SMTAfR Tielid S (@) & s e fag W 9ufiyd fagygd &3 ot digar g

(1) 0
(2) olgg

3 A

(4) £,/2

1[Option ID=23281]
2[Option ID=23282]
3[Option ID=23283]
4[Option ID=23284]

Sl. No.54
QBID:959142429

Determine the correctness of the following Assertion A and Reason R.

Assertion : Cyclotron does not accelerate.

Reason : The electron has a relatively low mass.
In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.

(2) Both A and R are correct but R is not the correct explanation of A,

(3) A s correct but R is not correct.

(4) Both A and R are incorrect.

4 S B AU U § : U 3@ (Assertion A) & =9 § 1RG4 § 01 GURT 3UD BRUI (Reason R) b =1 T;
ST A : FEHRICH @R eI 8l 81

PRUIR : THFTA UIET T GoHH 36 |

SRIGd Y & aid B, 1 f3u 7 fasedi & 3 9ol 3R &1 984 Difor
(1) ARREHTIE IRR, AP T AR

() A MRR GHI TA T, AP R, A T UEl AR T 8

(3) ATTR, AfpTR AT

(4) A 3R RMAI AT

1[Option ID=23285]
2[Option ID=23286]
3[Option ID=23287]
4[Option ID=23288]

Sl. No.55
QBID:959142430

The Gaussian surface for a line charge will be
(1) Sphere

(2) Cube

(3) Cylinder

(4) Rectangle

U ! 3M1a9 & forg sty wag gil -

(1) T

(2) U+

(3) FEATPR
(4) 3MTd

1[Option ID=23293]
2[Option ID=23294]
3[Option ID=23295]
4[Option ID=23296]

Sl. No.56
QBID:959142431

A charge is enclosed by a Gaussian spherical surface of radius R. If the radius is doubled, then the outward electric flux will be,




(1) Double
(2) Four times
(3) Half

(4) The same

TS SO o1 R o0 1 ST Tl Iae gRT fR1 g3 © | afe Bsan ST 81 9l § 79 a1 fagdq sifiare g -
(1) ST

(2) =RIAT
(3) HIHT

(4) U R

1[Option ID=23297]
2[Option ID=23298]
3[Option ID=23299]
4[Option ID=23300]

Sl. No.57
QBID:959142432

Which law states that any surface’s closed surface integral of magnetic flux density, regardless of its size or shape and lying in any
medinm, it always equal to the total scalar magnetic flux contained therein

(1) Gauss law of electrostatic
(2) Gauss law on magnetostatics

(3) Faradays laws of Electromagnetic Induction

(4) Amperes circuit law

DI 1 T Bl § DI Hi Ude BT D1 fHATe 9 Pl §< U8 JHID, $UP PR SR Pl B Fdel § SR foed
17 H X818, SHE <Ay T SN TEBI HfYaTg & gHRN aRIeR a1 © -

(1) &R degd &1 M3y g

() R JEPE R ISd FaH

3) faqgd gl RS &1 hfs &1 -9H

4 TfER uiay fam

1[Option ID=23301]
2[Option ID=23302]
3[Option ID=23303]
4[Option ID=23304]

Sl. No.58
QBID:959142433

Determine the correctness of the following Assertion A and Reason R.

Assertion : The velocity of electromagnetic waves depends on the electric and magnetic properties of the medium.
Reason : Velocity of electromagnetic waves in free space is constant.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both A and R are true and R is the correct reason of A.
(2) Both A and R are true but R is not the correct reason of A,
(3) Both A and R are not correct.

(4) Ais correct but R is not correct.

:ﬂaﬁmmﬂ'ﬁ%:@Giﬁ-laﬂl:f(AsseﬂionA}%Wﬁ%@ﬁ%ﬁW@%W(ReasonR)%Fqﬁ:
mexﬁwg&ﬁua@wﬂnmmﬁa fqgd iR gea e | Rk sar gl

R : f4qgd Aot o &1 37 T SRy o fRR gt 2
wﬁaawm%anﬁhfﬁﬁ i< f3U 70 fded § I ol TR &1 994 B ;

(1) A3RRIATAE ARR AT G AT ©

(2) A SRR A TAE, AT R, AP el e TE §
(3) ARRIFRAT

() AT S, AR 3T S

1[Option ID=23305]
2[Option ID=23306]




3[Option ID=23307]
4[Option ID=23308]

Sl. No.59
QBID:959142434

The ST unit of current density is.
(1) N/m?2

(2) A/m?

(3) Im?

(4) ym?

YT 9+ P SISPE & -

(1) N/m?

(2 A/m?

(3) I'm?

(4) I/m?

1[Option ID=23309]
2[Option ID=23310]
3[Option ID=23311]
4[Option ID=23312]

Sl. No.60
QBID:959142435

The two carbon atoms in acetylene are
(1) sp3 hybridized

2) sp2 hybridized

(3) sp hybridized

(4) Unhybridized

UfreTafem & &1 ST TR -

1) 5;133 Hepied

(2) 5;132 Tpid

(3) spw

(4) SRPHIRA

1[Option ID=23313]
2[Option ID=23314]
3[Option ID=23315]
4[Option ID=23316]

Sl. No.61
QBID:959142436

Match Group I with Group II.

Match List T with List IT

LISTI LISTII

Particle nature of

v I |Pyrometer
light g
Dual nature of ;

B [ II. |Hot wire
light
Milikan’s oil

C. ? III. |EM waves
experiment

Quantization of

D. |X-rays IV
charge

Choose the correct answer from the options given below:
(1) A-IV, B-IIT, C-1, D-II
(2) A-II, B-IV, C-II, D-1
(3) A-II, B-IV, C-1, D-II
(4) A-IL B-I, C-IV, D-III




el 1% 1Y Gl 11 DT T BT -

T 1 el 11
5. %@ﬁmﬂn a0
B. Eﬂﬁ@%‘ﬁ I [Har
C. %Wmmﬁﬁ O |EM T
D. |x-fewm IV. | ATa @ BB

i fGu U f[deredl § O U8l 3R &1 944 Sl
(1) A-IV, B-IIL C-I, D-TI

(2) A-IIL B-TV. C-II, D-I

(3) A-IIL B-IV, C-I, D-II

(4) A-IL B-L C-IV, D-III

1[Option ID=23317]

2[Option ID=23318]

3[Option ID=23319]
4[Option ID=23320]

Sl. No.62
QBID:959142437

‘k gives

(1) Maxwell’s constant
(2) Boltzmann constant
(3) Faraday’s constant

(4) Avagadro’s constant

k Sl

(1) HFgdd fRR®
(2) gieeqH RIS
(3) RIS T RARi®

(4) amal feRis

1[Option ID=23321]
2[Option ID=23322]
3[Option ID=23323]
4[Option ID=23324]

Sl. No.63
QBID:959142438

The de-Broglie hypothesis is associated with :
(1) Wave nature of electrons only
(2) Wave nature of alpha-particles only

(3) Wave nature of radiations
(4) Wave nature of all materials particles

St st ufkee e & weafed B
(1) UGS B Had ail Upid

(2) o-BUI Pl HAF a2 GBI

3) fafon &t o upfd

@ Tard & gt ol Bt a3 uSha

1[Option ID=23325]
2[Option ID=23326]
3[Option ID=23327]
4[Option ID=23328]

Sl. No.64
QBID:959142439




Match Group I with Group II.

LISTI LISTII

A, |Nuclear forces I |Weak interaction

B Integial spin 1] P—
particles

C. |Beta-decay III. |Photons
unantum character : :

D. Q S IV. | Strong interaction
of radiation =

Choose the correct answer from the options given below:

1)
(2)
(3)
(4)

A-I B-IV, C-11II, D-II
A-IIT, b-1V, C-I1.D-1

A-IV, B-I, C-IL, D-III
AL B-1, C-IV, D-III

el 13 91 Gt 11 1 e S

T 1 T 1
A |[Tf@EEa L [gdd sFarg fsar
B. |[gH@fdTeu®u | I |H9H
c. |p-&m I [pleg
fefrn s Ha :
D. | afraem V. |vEd e far

i fGu U f[de el § 9 gl 3R &1 904 BIfult
(1) A-L B-IV. C-III, D-II
(2) A-IIL B-IV, C-IL, D-I
(3) A-IV, B-L C-II, D-III
(4) A-IL B-I, C-IV, D-III

1[Option ID=23329]
2[Option ID=23330]
3[Option ID=23331]
4[Option ID=23332]

Sl. No.65
QBID:959142440

The energy gap for germanium at 0K is

1) 0.2eV
(2) 0.3eV
3) 0.74eV
(4) 1.21eV

0° K S F1aE & g gt sfasa () 21

(1) 0.2eV
(2) 0.3&V
3) 0.74 &V
(4) 1.21eV
1[Option ID=23337]
2[Option ID=23338]

3[Option ID=23339]
4[Option ID=23340]

Sl. No.66
QBID:959142441




Match Group I with Group II.

LISTI LISTII
Spherical wave Location of new
A L
front wavefront
B. |Plane wave front II. |Line source
Cylindrical wave Point source at
C. IIL. :
front finite
D. |Huygen's principle| IV ot noyrceat
i ye P P " |infinite distance

Choose the correct answer from the options given below:
(1) A-II, B-I1, C-IV, D-I

(2) A-IIL, b-IV, C-IL.D-I

(3) A-II B-IV, C-1IT, D-I

(4) A-IV, B-I, C-III. D-II

Gt 1% 1Y Gl 11 DT FHef BT -
T 1 et 11

. T T 3 B
A |Ticig o em R
B. |OHdd a3 L |aEaEd

deeR A e | o |diffd wieg Hia
o [oemme | v [FERR

)

At fau U fad el § 9 98t TR &1 90+ Piiolt :
(1) A-II. B-II. C-IV. D-I

(2) A-IIL B-IV. C-II. D-1

(3) A-IL B-IV, C-III. D-I

(4) A-IV. B-I. C-III. D-IT

1[Option ID=23341]

2[Option ID=23342]

3[Option ID=23343]
4[Option ID=23344]

Sl. No.67
QBID:959142442

Which of the following turns lead acetate paper black ?
(1) SOy

(2) S0;

(3) Al (SOy)3

(4) H5S

A0 YD W IS TRHST UIR &I BIefl SRl g 2
(1) S0,

(2) SO;3

(3) Al(80y);

(4) HyS

1[Option ID=23345]

2[Option ID=23346]

3[Option ID=23347]
4[Option ID=23348]

Sl. No.68
QBID:959142443




Given below are two statements :
Statement I : A monochromatic light beam impacting on a metal surface produces photoelectrons with a range of kinetic
energies.
Statement IT : The work function of the metal is its characteristics property.

In the light of the above statement, choose the most appropriate answer from the options given below :

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement I is correct but Statement IT is incorrect.

(4) Statement I is incorrect but Statement II is correct.

P 1 : T8 U1 B Flg TR T Thavi U1 Yol Hiaard S & df 1del o1l & R & 1Y YT SadeH Iodd D o

TYA 1 : T BT 1A DA DT [AIRTE &0 075 |
SWIF HY & 3Tcie H, i< AU e fdeedl ¥ 9 9ad Iuga SR &1 98- St -

(1) BYTI 3R IS TET ¢
() HUTI RIS Tad &
@) TS S APT P I T ©
(4) Y1710 o, A YT I el ©

1[Option ID=23349]
2[Option ID=23350]
3[Option ID=23351]
4[Option ID=23352]

Sl. No.69
QBID:959142444

A sonometer wire of length 1 meter, Vibrates n 4 loops. The distance between two consecutive nodes is

(1) 60cm
(2) 50 cm
(3) 25¢cm
(4) 10cm

1 Hiex & WAt IR 4 faurg (Fan) § 709 F3a © &1 A W5 (g s ad ol g Tl
(1) 60 THl
(2 s505Hl
(3) 2534l
(@) 10 9Hl

1[Option ID=23353]
2[Option ID=23354]
3[Option ID=23355]
4[Option ID=23356]

Sl. No.70
QBID:959142445

What would be the proportionality constant of an oscillator if the damping force is directly proportional to the velocity ?
1) Kg,m.s':l

) Kgs'!

3) Kgs

(4) I{g,m.s'2

U Al 1 GHIHUN [RUR1e o1 SR AfS Sfad e avl & FHIUTd 61d1 ¢ |

(1) Kg,m.s'l

(2) Kgs'!
3) Kgs

(4) Kg.m. 2

1[Option ID=23357]
2[Option ID=23358]
3[Option ID=23359]
4[Option ID=23360]




Sl. No.71
QBID:959142446

The polarizing angle for a medium is 60°. The critical angle for this medium is
(1) sin}(0.321)

2 sin’! (0.577)

3 sin! (0.732)

4) sin’! (1)

U H1H & AU {au1 HIvT 60° 31 59 WA & AU wif=is Hiur gl
(1) sin 1(0.321)

(2) sin1{0.577)

(3) sin 1(0.732)

(4) sin'(1)

1[Option ID=23361]

2[Option ID=23362]

3[Option ID=23363]
4[Option ID=23364]

Sl. No.72
QBID:959142447

What is the cause of diffraction ?
(1) Interference of primary wavelets

(2) Interference of secondary wavelets
(3) Reflection of primary wavelets

(4) Reflection of secondary wavelets
faad FTFEm IR 2

(1) Yryffe dRADT ST AfdeH

() Tgdige aifiieT &1 AfdH

() yryfie aXfIeT &1 suad

(4) Tgdige® Rt &7 Suad-

1[Option ID=23365]
2[Option ID=23366]
3[Option ID=23367]
4[Option ID=23368]

Sl. No.73
QBID:959142448

Determine the correctness of the following Assertion A and Reason R.

Assertion : The diffusion current in a p-n junction is from the p-side to the n-side.

Reason : The diffusion current in p-n junction is greater than the drift current when the junction is in forward biased.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Ifboth A and R are correct and R is the correct explanation of A.
(2) Ifboth A and R are correct but R is not the correct explanation of A.

(3) If A is correct but R is not correct.
(4) If both the A and R are not correct.

%ﬁmﬁ{[{m% ; @\ﬂﬁ-ﬁﬁﬂ:{ (AsseﬁiouA}%Wﬁ%@ﬁ%ﬁwmw(Reason Rj%mﬁ:

WWWA:p-n@ﬁﬁWWpﬁ@nmﬁ Sﬁ??ﬁ?ﬂ%l
HRUIR : p-n Y TR fGOR01 YRT YT URT Y 01T €. o9 Y speaRid 3 §1
JWRITT BYH & TIPS 4, Fid S0 7T fasedi ¥ § el IR &1 994 Hifoil -

(1) Tfg A 3R R S Hel € IR R, A DI Hel AR 6

(2) A1 A AR R G F6l §. AP R, A DI U5l ARAT el 5|
3 Tl AR, AP R LT 8

() ¢ A R R H UL T2 &




1[Option ID=23369]
2[Option ID=23370]
3[Option ID=23371]
4[Option ID=23372]

Sl. No.74
QBID:959142449

Which statistics follows Pauli’s Exclusion principle ?
(1) Bose Einstein statistics

(2) Maxwell Boltzmann statistics

(3) Fermi Dirac Statistics

(4) None of the above

B Ut giferast uraelt & ragei e &1 e $d § 2
(1) T HIS-HCI5 JilRdl

(2) THdd diccodH Tikega!

(3) TH 5@ Fikeaa!

(4) TR § I FIg o1

1[Option ID=23373]
2[Option ID=23374]
3[Option ID=23375]
4[Option ID=23376]

Sl. No.75
QBID:959142450

If we have 5 distinguishable how many arrangements of accommodation in two boxes.
(1) 32

(2) 5

(3) 36

(4) 38

afe 59 5 (favem) Tad & 91 &) sTe & gamicH o1 fa- sgawn @H) 21
(1) 32
@ 5
(3) 36
(4) 38

1[Option ID=23381]
2[Option ID=23382]
3[Option ID=23383]
4[Option ID=23384]

Sl. No.76
QBID:959142451

The Nylon 46 and Nylon 66 are formed by the common comonomer
(1) hexamethylene diamine

(2) butylene diamine

(3) adipic acid

(4) Octane dicarboxylic acid

T 46 2R AHW 66 THMG FHIGAT P gRI ST & -

(1) TSR

(2) 5‘33 S 3133 'QFQ ﬁ:l

(3) [’,% Eiai Hi

(4) 3Hfac SEHEGIadD A

1[Option ID=23385]
2[Option ID=23386]
3[Option ID=23387]
4[Option ID=23388]

Sl. No.77
QBID:959142452

The wave function box of particle is given by
(1) Asinkx




(2) B coskx

(3) Asinfkx) + B cos(kx)

(4) Asinkx — B coskx

SIS DU TP d1ad 1 ¢ a1 FH F DH I a7 B B §ardl g 2
(1) A sinkx

(2) B coskx

(3) Asinfkx) + B cos(kx)

(4) Asinkx — B coskx

1[Option ID=23389]
2[Option ID=23390]

3[Option ID=23391]
4[Option ID=23392]

Sl. No.78
QBID:959142453

Hamiltonian is given by

(1) Difference of K.E and P.E
(2) Product of K.E and P.E

(3) Sum of K.E and PE

(4) Square root of K.E and PE

frafafaad s T oF g eieFua o ueRfaewarg 2
(1) K.E. 3R PE. &I 3@
(2) KE. S{RPE. 1A

(3) K.E. RPEDIOIS
(4) KE. SR PE. &I aiHd

1[Option ID=23393]
2[Option ID=23394]
3[Option ID=23395]
4[Option ID=23396]

Sl. No.79
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The hybridization of *C” atom in graphite is
(1) spid

(2) s.p2

(3) dsp

(4) spd’

dPrgcH C ORHTY] BT HHR0] gl
(1) sp’d

(2) 5'112

(3) dsp

@ sp’ d?

1[Option ID=23397]
2[Option ID=23398]
3[Option ID=23399]
4[Option ID=23400]

Sl. No.80
QBID:959142455

Hall effect is true for
(1) Metals only
(2) Semiconductors only

(3) Both Metals and Semiconductors
(4) For N-type semiconductors only

gy e 4 fpa S Ruad g
(1) Had Y3 & oy




) FHad gaEs P g
(3) 3 uIgel SR sigames & fau
(4) HIA n-UPR & HGaAD & [

1[Option ID=23401]
2[Option ID=23402]
3[Option ID=23403]
4[Option ID=23404]

Sl. No.81
QBID:959142456

Which of the following did Bohr use to explain his theory ?
(1) Quantization of angular momentum
(2) Conservation of Quantum frequency

(3) Conservation of Mass
(4) Conservation of Linear Momentum

9 ¥ 9 T gy = A g & e & & fau 3an foan 2
(1) BT HAT BT BICHIHU]

(2) ®ICH i BT H&0

(3) GoOHM & IIEU

(4) TE HAT BT ERET

1[Option ID=23405]
2[Option ID=23406]
3[Option ID=23407]
4[Option ID=23408]

Sl. No.82
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Mateh Group I with Group IT

LISTI LISTII
A_ |Propene to Propan-1-ol| L |Tetrachloromethane

Benzenol to 2- ; ;
B. . . 1L g
Hydroxybenzoic acid Potassium Hydroxide

Benzenol to
C. |cyclohexa-2,5-diene-1-| IIL |Boron Hydride
4-dione

1.2-Dichloroethane to

Ethane-1.2-diol IV. [Sodium Dichromate

D.

Choose the correct answer from the options given below:
(1) A-L B-II, C-IIL, D-IV

(2) A-IL B-L, C-IV, D-III

(3) A-IV, B-III, C-II, D-I

(4) A-II, B-I, C-IV.D-II

et 13 F1 G 11 1 e S -

T 1 T 11
A (WTRIWH- T | 1 [CeaeRmd

L [ L |[TeREm
 [eeeRiEg® I B GIEEIEGIES]
Rk

C. |gEaiedL,
Bled-1, 4-3MH

1,2 SEHEIREHE Y g e
P |zi.1, 2-smia IV | WS ST e

=t fau U fasetl § 9 98t TR &1 90+ Hifolt :

(1) A-L B-II. C-IILI. D-IV

] 1L ([GRFEEIES

Lh




(2) A-IIL B-I. C-IV, D-III
(3) A-IV, B-III. C-II. D-I
(4) A-II B-I. C-IV. D-II
1[Option ID=23409]
2[Option ID=23410]

3[Option ID=23411]
4[Option ID=23412]

Sl. No.83
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Holography is the process of producing
(1) Three dimensional images by laser
(2) Images by laser

(3) Photography using laser

(4) Signals by laser

ffgn oo & Sag #1 ufbar gl
(1) TR gRT Al wfdfes

(2) O gRIAfdiss

(3) TRR BT IULN PIB BN

(4) o grRI ¥ud

1[Option ID=23413]
2[Option ID=23414]
3[Option ID=23415]
4[Option ID=23416]

Sl. No.84
QBID:959142459

Determine the correctness of the following Assertion A and Reason R.

Assertion : Phenol is more reactive than benzene towards electrophilic substitution reactions.
Reason : In case of Phenol, The intermediate carbocation is more stabilized.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) If both A and R are true and R is the correct reason of A.

(2) Both A and R are true but R is not the correct reason of A.

(3) As correct but R is not correct.

(4) Both the A and R are not correct.

:ﬂaﬁmﬁ—qw % :Udh Sy (Assertion A) %Wﬁ%@ﬁ%ﬁwmw (Reason R) CRSEREF
YA A« fipTa gl I gaide™ I wideirae sifisforar & ufd sifde forarefia §1

HRUIR ; {ATd |, BEYEEE Hegddl sa1e] WiE gidr gl

IR P & @D 1, Fid 13U 70 fdewed & I U5l Ik &1 904 Sy :

(1) g A SRR SATHA T 3R R, A Bl GEl ARATR
(2) A 3RRSH 9T, AfbT R, A P! el ARSI B
(3) ATl dFTR T TSI

(4 A RR A T TS F

ort ey

3[Option ID=23419]
4[Option ID=23420]

Sl. No.85
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The reaction and reagents that converts aldehvdes and ketones into alkenes are respectively
(1) Wittig reaction and triphenylphosphine oxide

(2) Wittig reaction and triphenyl phosphodium ylide

(3) Perkin reaction and triphenylphosphine oxide

(4) Perkin reaction and triphenyl phosphonium vlide

fifepar 3R sifyeds o ufcserss iR BiciH & Ulewr & uRafdd ovd & Ha:




) faferr fifraT iR eRhHaEREH HFEs
() fafew sfufhar iR e asrsiay gags

A

3) Tfd ffiiferar 3R CRBHaPREH HFEEsS
(4) T fiiferar 3R TReGHaBRpIE gags

1[Option ID=23425]
2[Option ID=23426]
3[Option ID=23427]
4[Option ID=23428]

Sl. No.86
QBID:959142461

Determine the correctness of the following Assertion A and Reason R.
Assertion : The erystalline solids have a sharp melting point.

Reason : All the bonds between the atoms or molecules of a crystalline solids are equally strong, that they get broken at the same
temperature.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Ifboth A and R are true and R is the correct explanation of A.
(2) Ifboth A and R are true but R is not the correct explanation of A.

(3) If A is correct but R is not correct.

(4) If both the A and R are not correct.
%ﬁmmm%:@\ﬂﬁ-lfﬁ?l:[(AsseﬁionA}%Wﬁ%@ﬂ%ﬁwmw(ReasonR)%Fqﬁ:

YA A : foh¥edily 319 &1 dilgur eI f6g Bidl &

HRUI R : [oheedid 31 & URHIU] HYQT U] & did il ST~ GHH & Y Uad gid 5. ol [ JHH al9qH 0 ¢ Gl g |
IWRIFT BYH & AT 4, Aid 13U 7T fawbedi § 9§ el IR &1 994 Difoil -

(1) ¢ A AR R EH A E 3R R. A DI Gl AT g |

() TfE A SRR GHI 9d §, Al R, A FI Tg1 R 1 5|
(3) UG A FEle. AP R LS I8

@) 7 A SRR TE TR

1[Option ID=23429]
2[Option ID=23430]
3[Option ID=23431]
4[Option ID=23432]

Sl. No.87
QBID:959142462

The device used in the Michaelson Morley experiment was
(1) Telescope

(2) Plain grating

(3) Interferometer

(4) Prism

g ler-Are 9aiT 5 IugnT fdar ar 49 o1 -
(1) &M

() gudd WrEl
(3) HfdHuET
4 fyeH

1[Option ID=23433]
2[Option ID=23434]
3[Option ID=23435]
4[Option ID=23436]

Sl. No.88
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The equation of motion of matter wave was derived by :
(1) Heisenberg
(2) Bohr




(3) de-Broglie
(4) Schrodinger

SO0 TR I T & WHIBRYT fdrdds gRT ogfcId fehar 7141 2

) grEeHE
(2) §ig2

(3) Sl
@) gifgeR

1[Option ID=23437]
2[Option ID=23438]
3[Option ID=23439]
4[Option ID=23440]

Sl. No.89
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For an inverse spinel, AB,Oy, the A and B, respectively, can be
(1) Ni(IT) and Ga(III)

(2) Zn(II) and Fe(III)

(3) Fe(II) and Cr(III)

(4) Mn(II) and Mn(III)

Ue Uidai 9=d & [dU AB,0, HUMA IR BEI HHd g
(1) Ni(IT) 3R Ga(III)

(2) Zn(II) 37R Fe(III)

(3) Fe(Il) 3R Cr(IID)

(4) Mn(ID) 3R Mn(III)

1[Option ID=23441]
2[Option ID=23442]
3[Option ID=23443]
4[Option ID=23444]

Sl. No.90
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From Stefan’s law, the total black body radiation per second per unit area is proportional to
(1) Absolute temperature

2 Tt

3 73

@ T

L a8, 3d oW Fe fafeu uld 39us uld gi-e dand [Hus s ¢
(1) FRUE q9HE

@ T

3) 13
@ T

1[Option ID=23445]
2[Option ID=23446]
3[Option ID=23447]
4[Option ID=23448]

SlI. No.91
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The structure of crystals can be studied using
(1) Diffraction of visible light

(2) Diffraction of X-rays

(3) Interference of sound waves

(4) Refraction of radio waves

g I g Sl fheed & TRE & AT $ U R IHd & 2
(1) TG UHTRI P fdad




@) x.fépe0 &1 e
(3) g I B AfdDHT
() ST T T AT

1[Option ID=23449]
2[Option ID=23450]
3[Option ID=23451]
4[Option ID=23452]

Sl. No.92
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Consider the reaction :
A+B«C
The unit of the thermodynamic equilibrium constant for the reaction is

(1) mol !
(2) T mol'!

(3) mol’r2
(4) dimensionless

Hffehar oR feaR iferg -

A+B « C

g sifirfgro & o SwMfoe T RRIT T son 6 -
() Tl

(2) off fre!

(3) T2 T2

(4) fgaRE

1[Option ID=23453]
2[Option ID=23454]
3[Option ID=23455]
4[Option ID=23456]

Sl. No.93
QBID:959142468

Determine the correctness of the following Assertion A and Reason R.

Assertion : Electron has higher mobility than hole in a semiconductor.
Reason : Mass of electron is less than the mass of hole.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Ifboth A and R are correct and R is the correct explanation of A.
(2) Ifboth A and R are correct but R is not the correct explanation of A.

(3) If A is correct but R is not correct.
(4) If both the A and R are not correct.

:ﬂaamﬁﬂ"ﬂ{%:WS{T\W?ﬁ{AsscﬁionA}%Wﬁ%@ﬂ%ﬁWWW(R.easonR)%??qﬁ:
Y A : TF Saa® § sadeH fog T aiffe nfaefiaar w@d 2

PRUIR : a9 I 5o0d . [B5 & A 4 ST §l

SWRITT BYF & 3iTdld H, Hid 40 7T fased] § 4 Yol IR &1 999 Hifoil -

(1) A% A SRR HI 6l § SRR, A DI Aol ATEN T

(2 T A 3R R I WOl &, AP R, A DI TE! o1 To &
(3) % A TR S, AT R TE TSI B

@) TR A SRR A TR T

1[Option ID=23457]
2[Option ID=23458]
3[Option ID=23459]
4[Option ID=23460]

Sl. No.94
QBID:959142469

The actual value of nuclear spin depends on




(1) Mass number

(2) Atomic number

(3) Both1and2

(4) Shielding effect

TS IH0 &1 aafds 71 R Fdr e -
(1) GoIH =T

(2) qRHIUgE =1

(3) &M (1) 3R (2)

(4) GRRE&UI YHIT

1[Option ID=23461]
2[Option ID=23462]
3[Option ID=23463]
4[Option ID=23464]

Sl. No.95
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The current sensitivity of a galvanometer increased by 20%. If its resistance also increases by 25. the voltage sensitivity will
(1) Decrease by 1%

(2) Increase by 5%

(3) Increase by 10%

(4) Decrease by 4%

Tea-ETeR B URT AR 20% 9 ¥l ¢ | TS g9 Hicriy off 25 9 §¢ df diceal gafedr sif -

(1) 1% F T

(2) 5% JaeH

(3) 10% H e

(4 4% Fueff

1[Option ID=23469]
2[Option ID=23470]
3[Option ID=23471]
4[Option ID=23472]

Sl. No.96
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The stress ratio for a completely reversed cyclic loading during a fatigue test is
(1 0

2) 1

3) -1

4) -1/2

U Hifd URI&01 & G0y gul &0 § Sohiid 9y YR & (o¢ Ufded 3dTd g |
1) 0

2 1

3) -1

(4) -12

1[Option ID=23473]

2[Option ID=23474]

3[Option ID=23475]
4[Option ID=23476]

Sl. No.97
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The major contribution of magnetism in substance is due to

(1) Orbital motion of electrons
(2) Spin motion of electrons

(3) Orbital and spin motion of electrons equally

(4) Hidden magnets
g & Frad@ &1 g1 ANEH [hHd SRUIGIAN§ ?
() saEeH o mef




() g $ TH U T
(3) SAFCH DI eI 3R T T & HROTHH I
(4) AYIE TP

1[Option ID=23477]
2[Option ID=23478]
3[Option ID=23479]
4[Option ID=23480]

Sl. No.98
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The enzymes which are used to convert starch into ethyl aleohol are
(1) maltase, diastase

(2) diastase. maltase. zymase

(3) invertage, zymase

(4) invertage. diastase. maltase

191 T d o TTH ¥ Ufld Uemigid & gRady & o0 SuaiT eidr g |
(1) HIeeol, SRS

(2) Sl Hleoul, bllgH

(3) gdCS, S

-
(4) Zdcyl. ST, Hlecdl

1[Option ID=23481]
2[Option ID=23482]
3[Option ID=23483]
4[Option ID=23484]

Sl. No.99
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Which reagent 1s used to convert glucose into Saccharic acid ?
(1) Bry/H,O

(2) Nitric acid

(3) Alkaline solution of iodine

(4) Ammonium Hydroxide

B I SHUGHHD TGP I bR o H uRadH & U Sugi gl g
(1) Br, /H;0

(2) AECH 3

(3) IS BT &RY fdea-

(4) MY gESlRSs

1[Option ID=23485]
2[Option ID=23486]
3[Option ID=23487]
4[Option ID=23488]

Sl. No.100
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Which of the following 1s a basic amino acid ?
(1) Glycine

(2) Valine

(3) Leucine

(4) Argenine

S0 T B I &R U o 2
(1) TEHH

() geg

3) I

@) SfSHFA

1[Option ID=23489]




2[Option ID=23490]
3[Option ID=23491]
4[Option ID=23492]




